
MANUAL

 HIGH SPEED TRIMMER SERIES

MODEL  T261

M
ode l  No :T261

S
e

r i a
l  N

o
:

Power:180~430W

Volt:220      Hz:50

Grand International Enterprise(U.S.A)Inc.



Application instruction 1

Clipper blade maintenance 2

4

5

3Vacuumsuction motor maintenance 

6

7

Appl icat ion ins trust ionAppl icat ion ins trust ion

Clipper blade accessory and assembly

Main box and bracket accessor 

  Box components and support components list 

Suction accessor and assembly

From the library of Merrow Superior - www.supsew.com • www.merrow.com

• 
• 
• 
• 
• 
• 
• 

-------------------- · ---- · ---- · ---- · --------------------------- · ---- · ---- · ---- · ----------------------------· ( ) 

................................................................................................... ( ) 

. ....................................................................................... ( ) 

--------------------- · ---- · ---- · ---- · -------------------------------- · ---- · ---- · ---- ( ) 

. ................................................................................................. ( ) 

.......................................................... ( ) 

. ................................................................................................ ( ) 



Refer to the following formRefer to the following form

11

IntruouctionIntruouction

Application instruction Application instruction 

Description of operationDescription of operation

1  The  th read  t r immers  a re  par t i cu la r ly  made  for  those  who manufac ture  garments  ,  th read  
t r immers  a re  the  necessary  equipments  to  subs t i tu te   the  p rocedures  o f  cu t t ing  th read  ends  made  
by  manual  l abors  , the  machines   combine  the  l abor  p rocedures  o f  cu t t ing  and  suck ing  th read  
ends  in  a  un i t  , the re  i s  no  remained  th read  ends  le f t  on  the  garments  and  sure ly  they  keep  the  
work ing  envi ronment  c lean  , th read  t r immers  can  ra i se  work ing  e f f ic iency  and  e l imina te  manua l  
l abors  , they  a re  the  necessary  machines  tha t  modern  garment  fac tor ies  mus t  possess .    
2  These  th read  t r immers  a re  smal l  in  s ize  , low voice  f requency  ,h igh  e f f ic iency  for  cu t t ing  
th read  ends  ,you  can  eas i ly  ad jus t  the  cu t t ing  speed  of  th read  ends  , the  ra te  o f  cu t t ing  ends  i s  up  
to  95%,accord ing  to  your  own  hab i t  ,you   can  a r range  the  b lade   head   cu t t ing  d i rec t ion   and   the   
same leng th  of  f in i shed  th read  ends  f rom1.5mm to  5mm as  you  wish  ,  our   th read   t r immers   a re   
par t i cu la r ly   su i tab le   fo r   those  garments  wi th  p len ty  of  th read  ends  such  as  c lo thes  made  wi th   
kn i t t ed   and  women  fabr ics   o r   den im  garments  wi th  th ick  th read  ends ,  as  wel l  as  fo r  those  of  
computer  embro idery  fac tor ies  .

1 There are two plugs at the back  of  the  main machine for the america style ,there is one plug for sucti on 
electric thread trimmer and the other for light.
2  Firstly turn the adjust button to the lowest position as shown on picture 5-1and shake the lube  times  and 
spray towards the gaps of the blade teeth ,then spray the drive shaft of the clipper  for blades head .
3 Put on the switch of the machine as shown on picture 5-4,and the switch of the table board as shown on 
picture 5-5,the whole machine is ready to work .
4 At last turn the adjust button to the adequate position according to thickness of the fabric and thread ,at 
this moment the machine is in working condition .
5 If you find that the thread ends to be cut is too long or too short ,or damage the fabric or unable  to cut the 
thread ends,please refer to the instruction of clipper blades adjustment .
6 Before using the machine ,spray the lube a time,also spray the lube to the machine after working  for an 
hour ,when you add the lube to the machine ,adjust the sucking volume to the lowest position and spray the 
lube to the gaps of upper and lower teeth,take a piece of cloth to wipe off the excess lube and continue to 
operate the machine.
7 The filter of suction motor should be cleaned every day ,if necessary ,clean the filter ,the used filter can be 
cleaned for complementary use .

1 Put the thread ends of the finished garment towards the teeth of the Clipper Blade sand horizontally
 move to and for that you can get the result of cutting  thread   ends efficiently.
2 According to habitual operation ,you can arrange the distance between you and the Clipper Blades in 
order to eliminate your tiredness.
3 Choose different blade model and speed according to the quality of fabrics in order to avoid  damage to 
fabrics .below is a table for your reference .

Fabric     

2-4 5-7 7-9

Pure Silk &wool Knitted Fabric Tatting & Jeans

Suction scale

Blade model 046 036 196

M
ode l No :T261

S
e

r i a
l  N

o
:

Power:180~430W

Volt:220      Hz:50

Grand International Enterprise(U.S.A)Inc.

From the library of Merrow Superior - www.supsew.com • www.merrow.com



Pc1 Pc2

1/161/16

Pc3

22

IntruouctionIntruouction

1.Whilst re-installation for clipper blade, firstly assure the active blade tip and fixed blade are put
together to the correct position exactly. Active blade tip is 0.604mm shorter than fixed one. Such
adjustment only needs to release screw with spring washer and in parallel impel active blade.
2.Whilst adjustment for clipper blade wing guard, please retain approximate 1.28mm gap between wing
guard and clipper blade tip after completion of the blade installation; if the cloth is extremely thin,
0.64mm adjustment is also acceptable, such manner should avoid any damage of garment or over-lock
thread whilst cutoff.
3.Blade tip and wing guard shall retain 0.5mm gap, that is to say, wing guard is 0.5mm higher than blade
tip; however, garment or over-lock thread is easily damaged if they both are equal to each other at height;
as for some comparatively thinner garment or requirement for over 2mm thread length after cut operation,
the gap between wing guard and blade tip must be adjusted into comparative larger setup, herein, only
release screw (see Diagram 3) and push down blade assembly until onto appropriate position, replace
some thicker wing guard is also acceptable if available.
4.In case clipper blade is blunt, please release the screw tightened on the blade, review if any peculiar
substance exists between blade and blade teeth, if some accumulative dirt completely exists which results
in unsuitable position whilst thread head feeds into blade, must immediately clean up it completely; also
review the stress of tension spring, first left hand holds on fixed blade, and then right thumb and first
finger impel active blade, it is ok if feeling 3-3.5kg push force, otherwise, please rectify the spring
pressure or replace new one.
5.Once some special sound such as Dadada takes place on the blade head, please release the screw
tightened on the blade, review the matching gap between eccentric block and fixed blade, immediately
replace the eccentric block if too larger matching gap, whilst checking up if some axial gap exists, also
immediately reset it if too larger clearance.
6.No use sewing machine oil or WD-40 instead of grand special thread trimmer oil since these kinds of oil
shall shorten the life of blade, however, grand lubricant is one of composite oil with quiet fine, higher
specification value, easier solubility to water and mobile viscosity, also beneficial for improvement for
blade life.

Clipper blades to be used continuously after six months may be blunt, please go to our dealers to sharpen 
the blades or buy new one.

RemarksRemarks

From the library of Merrow Superior - www.supsew.com • www.merrow.com

I IT:JJI - 1,a2 

-



33

Vacuumsuction motor maintenance Vacuumsuction motor maintenance 

Suction motor has been to high pressure resistance before factory shipment, which is durable to 
1200V and with thermal protection device. Once temperature exceeds 120 , the motor shall be 
automatic shutdown, and restart it after temperature lowers to normal one, such operation 
become more safe and reliable.
If not enough suction force exists in suction motor whilst use, first check up if air speed 
adjustment knob is at appropriate position,  finally check up if the barrel is too filled with thread 
end and if dustproof cover accumulated too much thread end or dust.
Must clean up plastic barrel once a day, and better cover up it once its better cleanup after 
operator affirm that dustproof cover is at normal status.

4117

180

Spray Oil

Motor Brush

For the carbon brush motor, if it works 10 hours per-day,it needs to change the carbons about 
800 work-hours.

RemarksRemarks

Tools

AccessoryAccessory

From the library of Merrow Superior - www.supsew.com • www.merrow.com

ll11AI\I() ~ 



44

1
2
3
4
5
6
7

1
1
1

1

4
1

1

1

0608

8
9

12
11

15

13

10

14

16

1

1
1

18
17

2

1

20
19

21

1

22

2

1

1

M2.5X4

M5X10

1

M3X4

23 1

GT26-025
261-05
GT36-016-07

GT36-016-06

124D

XM-4-1

130-3

181-07-22

XM-4-2
GT36-016-05

277/242/279
277/242/279

XM-4-3

XM-4-4

181-07-30

1

M4X6

1M4X8

2M3X25
1 7181-08B

M5X8

1GT36-016-0424

10X30

1GT26-02325

Clipper blade accessory and assemblyClipper blade accessory and assembly

Clipper blade base
Bushing
Needle bearing
Clipper toggle

Eccenrtic block
Clipper crank shaft
Blade cover
Wind guard screw
Wind guard bracket
Windguardbracket screw

      Wind guard
Tension spring screw
Tension spring
Active clipper blade

         Fixed clipper blade
Clipper blade screw
Long oil bearing

Drive shaft
Crank shaft

       Open washer

Blade head fixed screw
Flexible shaft fixedscrew
Short oil bearing
Aluminum pipe
Chain check pipe

No  No  Part no  Part no  Description Description Qty     Qty     RemarksRemarks

From the library of Merrow Superior - www.supsew.com • www.merrow.com

9 

•••• •••••.. ______________ _ 

·····• ... ! 
9 : 

-,,,, ',,, •. 
"ci·· .... : 

• .. 

Q 

I I J 
I 
l ~1 J 

I 
J 
J 
J J 
J I 
J I 

l J l 
I -J J 

J J l 
l I I 

J 
l 

J 

J -~ 
J 

J 

l 

l 
J J 
J l 

l -I I J 
J 
I Q) 

-

J [ I 
J -

J -

J t I 
l Q) 

-
J -

J 

I -

I l 
I 

l -

l J 
I 

l -

J ~ 
l 
J 

I I 
l l J l l J 



55

Main box and bracket accessor Main box and accessor bracket 

From the library of Merrow Superior - www.supsew.com • www.merrow.com

9 

~~i! I ~ -® 

\) ~ g 

= @) 
©@Q 

3 



66

No         No         Part Part No             No             Description               Description               Qty     Qty     RemarkS RemarkS

Inside box

Screw

Air fan cover

1

1

1

1

1

1

4

1

3

1

1

1

1

1

1

1

1

2

1

1

1

1

1

1

1

1

6

1

1

2

1

4

1

1

1

2

M4X14

10K/2W5%

182-12

250V/10A

182-01

M4X20

2.5UF/450V

M4X8

120X120

182-18

M4X24

220V/16A

1

182-05

M3X4

182-06-C

M6X20

182-10

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31
32

33

34

35

36
37

222-02

M6X60

GT26-003-02

M4X6

GT36-003-04

M4X20

GT36-022-01

M4X30

GT36-003-02

GT36-003-03

GT26-008

GT26-06

TSZJ-220V

183-02

15X25

T261-001-03

T261-001-02

T261-001-06

T261-001

381 T261-001-07

T261-001-08

Plug wire 

Hose

Screw

Flange base

Screw
Support pipe

Screw
Active support pole

Nursing aprons

Screw
Moving wheels

Screw
Link a piece
Orientation ring

Balancer
Motor fixation
Clipper motor

Screw
Motor coupling

Flexible shaft wire

Circuit board

Screw

Robber stand
Reguiation resistance

Adjustment knob

Switch

Screw
Capa citor

Plastic containre

Glass doors
Aprons sealed

Door plank
Separate plank

Screw

Hold the door

Flat 2 nut

1 flat nut,1 wahser

1 flat nut,1  wahser

1 flat nut,1 spring wahser

  Box components and support components list   Box components and support components list 

From the library of Merrow Superior - www.supsew.com • www.merrow.com-

+ 

<I> <I> 



77

1 1
22

3
4
5
6
7
8
9

12
11

13

10

14
15

1
1
2

1
4
1

1

4
4

1

1
1
1

183-02
183-06A
183-06B
183-01
4117
183-08
183-01-Z
M5X14
183-03
M4
M5X4

M6x60
183-04

183-11
183-10

No         No         Part Part No             No             DescriptionDescription Qty     Qty     RemarkSRemarkS
Plastic container

Filter frame
Filter sponge

Motor fly
Carbon brush

Motor washer
Motor rotor

Screw
Mounting  plate

Wing nut
Screw

Motor cover 
Screw
Hose clamp
Hose

Suction accessor and assemblySuction accessor and assembly

From the library of Merrow Superior - www.supsew.com • www.merrow.com

I 
I 
I 
I 

~---

CD 

------~ 
I 
I 

/ 
(j) 


	Ò³Ãæ  1
	Ò³Ãæ  2
	Ò³Ãæ  3
	Ò³Ãæ  4
	Ò³Ãæ  5
	Ò³Ãæ  6
	Ò³Ãæ  7
	Ò³Ãæ  8
	Ò³Ãæ  9
	Ò³Ãæ  10
	Ò³Ãæ  11
	Ò³Ãæ  12



